
PROBLEM 11C Add and Subtract 

WORD PROBLEMS    NAME ______________________________ 

Place your answer after the equal sign 
 

 

 

 

 

 

         

 

 

 

4)  Frankenstein dropped into the school playground during 

recess.  There were 45 students in the playground until some 

of the students saw Frankenstein. 20 students screamed as 

they ran back into the school.  No one told the other students 

or the teacher.  How many students were left on the 

playground? 45 – 20 =  

3)  The detective was searching for clues.  He found 11 

clues the first day and 12 the next day.  How many clues 

did he find in all?  11 + 12 =  

  

 

1) There were 36 Christmas balls on the 

tree.  The cat jumped on the tree and 

knocked off and broke 10 balls.  How 

many Christmas balls were left on the 

tree?  36 - 10 = 

 

2) They were decorating the Christmas tree. It took 

them two days to complete the decoration.  They placed 

25 Christmas balls the first day and another 25 the 

second day? How many Christmas tree balls were on 

the tree after two days?  25 + 25 =  

 

 

5) There were 5 canoes with 2 Indians in each canoe 

going down the river.   How many Indians total were 

going down the river?  2 + 2 + 2 + 2 + 2 = 

 


